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Topic:- General Studies

1) Choose the appropriate prepositions for the given sentence:
We waited __ the station ______fifteen minutes.

1. in, for

2. at, for

3. in, upto

4, of, at

Correct Answer :-
e at, for

2) If JKLMNO is coded ACTVSRX, then how is MILLION coded? / Tf& JKLMNO Y ACTVSRX | BIfSd

far ST 8, 9 MiLLion B B8 HIfSa forar s

1. STAATXR
2. SAVVAXR
3. SATTARC

4. SAVVARX

Correct Answer :-

* SAVVAXR

3) Complete the sentence choosing the right option:

The wonder of wonders is manage to make a living in the face of soaring inflation.
1. how every people

2. how these people



3. how all peoples

4. how all that people

Correct Answer :-

» how these people

4) If the perimeter of a square is 44m, what is its area? /'CI'% Udh T BT ufvaTg 44 H %, a ELEd)
ST T g2

1. 121m/ 12190

2. 256m? / 256412
3. 121m? / 121412
4. 224m? / 224 12
Correct Answer :-

. 121m?/ 121912

5) Choose appropriate articles for the given sentence:

Dr. Amit Mitra,  Secretary General of FICCI will address __ foreign delegates.
1. a, an

2. the, the

3.a,a

4. the, a

Correct Answer :-
o the, the

6) If Arun buys 10 pencils for Rs. 5 each, and sells all of them at Rs. 6 each, then how much

profit will he make out of it? / af¢ 3], 5% Ufd IfRA F fFAE T 10 IS WHeaAT g, 3R
37 gt # 6 = ufa tfRye o =rar 8, ot S fra=r @ty g

1.Rs. 12/ 120U
2.Rs. 10/ 10%UU
3.Rs. 15/ 154U
4. Rs.21/21%¥UU

Correct Answer :-

e Rs.10/10 %UU



7) Which country hosted the Chitwan Elephant Festival in 2016? / frg %QTﬁ 2016 # frda= ET%ﬁ

AR T Tt far?

1. Bangladesh / CIERIER

2. South Africa / GI&UT 3{ThIhT
3. Nepal / B

4, India / HIRd

Correct Answer :-

e Nepal/ B

8) Shyam is working in a fireworks factory. The material to be used in coating his work clothes should

be / TATH TP JNfARIETS PRETH H B4 HIdT 81 ITP BT 9%l & faau= # ST g1 ardl
TR, g1 Trfeul

1. Acrylic/m
2. Rayon /Q'CIV'FT

3. Polyester / GTTeTd%eR
4. Melamine pIastic/ﬂT‘ﬂTITg:f wifesd

Correct Answer :-

e Melamine plastic/ﬁf’l'ﬂ:l'lg:[ wifed

9) What is the expansion of the term WAN in computer technology? / PFYCY MR & o
“WAN X[eg BT faega =0 1 82

1. Wide Angle Network / 9138 W Hcdd
2. Wide Area Network / dIgS U T Acadh

3. Wide Application Node / CIERRNNIE RG]
4. World Application Network / CISRNIER G EEEY

Correct Answer :-

« Wide Area Network / A138 URAT Aedd

10) it ST & W B T 3 U P Y T g T
1. 3=

2. SRl

3. greif



4, 3y

Correct Answer :-

11) Choose the correct form of expression to complete the sentence:
You'll have togeta/an ___ to get into the factory.

1. leave

2. pass

3. permission

4, admit

Correct Answer :-

12) The process of converting a liquid into its vapour by heating followed by condensation of vapour

back into liquid is called / ATU-T §RT %4 ®I 39 arsq ¥ ufvafda HA 3t ufshar, forasd ugrq
sy HT fpR A 59 | U= g1 Hgardl &:

1. Sedimentation / SdHTG
2. Transpiration / e

3. Distillation / 3THdA

4. Vapourisation / CIER

Correct Answer :-
« Distillation / ATHdA

13) «3(7el faeeh F) gedis @A avg At WRqd are # WY WIS Weg $1 g SR Id1¢
fe @ P I IHE &2

1. TGN AN
2. g5 9HY
3. fer aar

4. J(STATHT FHIY

Correct Answer :-

. AGIY JHAY



14)

e

£ L)

Hesght [feet)
M Wk
|1
1

Read the graph carefullv, a bov's age in vears and his height in feet are represented in the graph. What
was his age when he reached maximum height? / % &I mmq@h? g, 39 A% H Ud ofseh &l

3# (gut #) vd sars (Fre 7) wefHa & i &1 F9 39 Afeaq das ueag &, a9 3T
3H &1 e

1.21
2.24
3.20

4. 19

Correct Answer :-
e 24

15) Finger like outgrowths in human intestine helps to / HEATY 3iid A Ifardl & JHH Bg?-f,
TGl el B

1. Make the food soluble / Hio- & faog |
2. Absorbs the digested food /EIT%R‘T o BT TN B |
3. Absorbs the undigested food /ﬁT—EITI%lT‘T o BT TN B o

4. Digests the food substances / dl<g] W%ﬁﬁ PEIC k]

Correct Answer :-

e Absorbs the digested food /tIT%lT‘T o T T B |

16) «THR, MR, 3R $HH 34T T & TTHT1 & YR R Ta! ared He gfe?
1. TR AT

2. Igad 1

3. Ty a1y



4, Jfed arg

Correct Answer :-

o WA I

17) The musical instrument that produce music through vibrating air columns are called / dg dT<l a7,
oY arg WUl § HU & ATy F WG U HRT ¢, Fgardl gl

1. Percussion instrument / Uc dIg]

2. String instrument / dIR dT<]

3. Wind instrument / g8k aTe

4. Electronic instrument / 5’@7@'% da1d

Correct Answer :-

« Wind instrument / gt aTef

18) Find the value of 2 of 100+25. / 100 +25% 2 & = 71 Y|

2.25
3.4

4.1

Correct Answer :-

19) 13 15
—of51is: / 51 & — §IM:
17 % k7

1. 39
2. 49
3.31

4,51

Correct Answer :-

e 39



20) What is India’s ranking position in the Global Competitiveness Index (GCI) 2016-2017? / 3%

wfrerefarsar gaeie (@ed Hrdifeaad sS) (GCI), 2016-17 T YR &1 1 IfHT1 82
1. 551 / 55t

2. 39t/ 39t

3. 112/ 112t

4. 88 / ggdfl

Correct Answer :-

. 39t/ 30t

21) “UfYuITH> Vg BT Tl fUg =1 82
1. GR + 919
2. IR + o
3. UR +|JH

4, J+HMH

Correct Answer :-

« OR+9H

22) Find the mean of the first seven odd numbers? / WJH HTd fauw d=mai &1 a1ed ATd B2
1.7

2.9

3. 11

4. 14

Correct Answer :-

23) In a certain language, fil wil til means tell them now; wil skel feil means now and then. Which is the
word for wil in that code language? / IEIRCIG R ﬁ, fil wil til pT Hddd % tell them now; wil skel
feil BT AT & now and then. T I HTHT & wil & ford 11 AT T1e; 32

1. Now
2. Tell
3. Them

4. Then



Correct Answer :-

e Now

24) Choose the correct form of tense for the given sentence:
Do not distract me at the moment. I to concentrate.

1. was trying

2. am trying

3. try

4. tried

Correct Answer :-

e am trying

25) Choose the appropriate prepositions for the given sentence:
The city  Quito lies  the equator.

1. of, near

2. 1n, to

3.0n, in

4. by, on

Correct Answer :-

Topic:- Lab Technician

1) Example for liquid anticoagulant is WAL YFPI-eh BT 3ale¥ul
g

1. EDTA/%@'é'Q
2. Oxalate/Giv'l?ﬂla—cr

3. Sodium citrate / ST Ry
4. Sodium fluoride / TTSTH FIRZS

Correct Answer :-

. Sodium citrate / Hifgad Rice



2) Myoglobin is a oxygen binding protein found in /mﬁ?, H
UTIT SIT9 aTdT U SIS STeaRI UidiA gl

1. Heart muscle /Wﬁ%ﬁm
2. Lymphatic fluid/ TRI1®T &4 (febfed KJZS)
3. Liver / dllaR

4, Plasma / WIIGHI

Correct Answer :-

 Heart muscle /Sﬁﬁﬁrrrmﬁﬁrm

3) Preservative used for 24 hour urine sample is /24°¢® UEl T-I'Hﬁ' & fere
T IR 2

1. Conc. HCI/WW
2. Glucose / ’@F

3. Maltose / HTee |

4, Dextrose / @aﬂaﬂ

Correct Answer :-

« Conc. HCI/ Tifgd T=itud

4) reagent used for occult blood test is carcinogenic. / J[@ Y EICk g fag

T SAfUFHS HFIRBRS ¢l
1. Biuret / a'I?CB_C'
2. Benedict’s / éﬁ%aegtr

3. Bial’s / dTTceqT
4. Benzidine / m

Correct Answer :-

« Benzidine / éﬁl@ﬁ

5) Test done for clotting time is called .| THEAqHA & f%l'l'\'r &1 S+ arett
EIC) Fgandi gl

1. Capillary tube method / BRI AAfcrenT fafdr
2. Duke method / S fafer




3. Template method / CHITIC fafY
4, Ivy method / &nsﬁﬁfﬁr

Correct Answer :-

« Capillary tube method / BRI 1T Afere1 fafey

6) Azoospermia refers to . /W (QSTreafHaT) &1 o
e

I
1. Absence of semen / AT B} G‘IECI'@I%
2. Absence of sperm / [PTU] Edl Glﬂq@‘lﬁ
3. Absence of RBC / {RaIl &1 &Iﬁq@alﬁf
4. Presence of semen / 914 &1 IUMRUTA

Correct Answer :-

« Absence of sperm / J[hTU] Gl Gﬂﬂ@lﬁ

7) The “A” in CPD-A stands for and it gives better preservation. / '\‘ﬂﬁ?ﬁ-ﬁf

g BT ad g 3R 98 9 URR&UI AT 2|
1. Adsol / USHId

2. Adenine / TS

3. Alkaline / &R (TeehallsH)

4. Anhydrous / Foid (TTgT289)

Correct Answer :-

e Adenine/ Qé:“q

method is used to demonstrate motility of bacteria. / ﬁrﬁr,

vﬂwaﬁwﬁiﬂwaﬁmmﬁﬂ?mwﬁ?ﬁ%l
1. India Ink / 3STT b

2. Lactophenol / G It

3. Loeffler / TURIR

4, Hanging drop / %.Ii.lll Sy

Correct Answer :-

» Hanging drop / %.li.lll S



9) Enzyme related to heart is ./ gqq T gafia E',\_rl'lg'q
gl

1. Amylase / UEEISES|
2. Lactate dehydrogenase / dace §|§IZI§;|G]|3IFI

3. Lipase / FIT'{aﬂ
4, Acid phosphatase / YR BRG e

Correct Answer :-

« Lactate dehydrogenase / dace 3|6|5|3-A SIRES)

10) Haem part of haemoglobin consists in ferrous state. / ﬁtﬁ"?ﬁﬁ:{ G|

9 T, wie () AT A | g g 3|
1. Iron / TG

2. Potassium / GICRH

3. Calcium / BfeRITH

4. Magnesium / THREH

Correct Answer :-

. Iron/?ﬁ—é

11) Coagulase test is positive for ./ ﬁ'ﬁ'ﬂﬁ'\‘[ CIE| & JI%I'l'{
HHRIHD il g

1. Staphylococcus aureus / Weﬁiﬁiﬁzﬁﬁm 3T

2. Staphylococcus epidermidis / % g SIEACES Qﬁgﬁ%ﬂ

3. Staphylococcus saprophyticus / %Elb-::::sliﬂ\l HIh g TuhicHd
4. Streptococcus pneumoniae / @;@WTW Q}:J:h:ﬁ

Correct Answer :-

o Staphylococcus aureus / % VeI ) SIEACRIREIREES]

12) The specific gravity of urine is determined by using . HA DT fafdry

LB & 7T gRT Rruffia g 3|
1. Calorimeter / PARIHIET




2. Urinometer / Q§|7‘i|ﬂ|€?
3. Spectrophotometer / m

4. Albuminometer / H@&Fmﬂa
Correct Answer :-

e Urinometer / qél:ilrilai

13) Which is the smallest white blood cell (WBC) seen in blood? / I&d H @ W14 aTef!

A B 49 Yo SIRDT (Ssgate) H1 Ht g1
1. Neutrophil / W

2. Eosinophil / gmﬁv_ﬂ

3. Monocyte / aHNEe

4. Basophil / &R (a@m

Correct Answer :-

« Basophil / &RBRFT (SATHa)

14) Nuclear stain used in Papanicolaou stain is ./ To-fiearsn ke &
Tg& YD fiRe® gl

1. Haematoxylin / Eﬂﬁ?ﬁm‘_‘[

2. Trypan Blue / ‘g’lsﬁ? oy

3. Neutral Red / 3aRIH ATl (cgd i@‘)
4. Methylene Blue / fHTSfer o],

Correct Answer :-

» Haematoxylin / @ﬁ?ﬁ?ﬁﬁﬁr"{

15) Which theory states that a single tRNA can recognize more than one codon? A:ack:| ﬁ?{l’d &

TR, THd &1 RTAT, TF HIs | S Ugdar Gl o7
1. Watson and Crick/aﬁﬂq 3R frp
2. Induced fit / 37T fthe

3. Wobble hypothesis /WE’I’%@W
4. Darwin’s theory / Sifd

Correct Answer :-



* Wobble hypothesis /W?ﬂg@ﬁlﬁm

16) AFB staining is also called as

SR Wt peTwEaT 81

1. Gram’s / U

2. Giemsa / Iiquﬁ.”
3. Zichl-Neelsen / Gﬁﬁ-w

4. Leishman / SR

Correct Answer :-

o Ziehl-Neelsen / \_rﬂa-:ﬁaﬂ:[

17) Complete suppression of urine is known as

staining. / Q'EW SRS Bl

./ A BT gl 3faRIY

& U H =1 ST 2 |

1. Oliguria / 3{eUHAaT (3Nfergfan)
2. Anuria / 3T (SR
3. Hyposthenuria / @E@Fw

4, Hypersthenuria / WW

Correct Answer :-

« Anuria / 3{FFT (SR

18) Thyroid gland secretes hormone. / 3(dg (?413?2:2::-\1'33') pIE]

gIATT wrfad Sl g1

1. T,

2. FSH / Thuqud
3. HCG / TgHToi
4. LH / TdQg

Correct Answer :-

.T3

19) PAS stain is used for the demonstration of

./ 4reed SifiRwI®

F U A UG a8




1. Lipid / fefUg

2. Acid phosphatase / 4SS q'?\ll'\‘:a?cf\ﬂ
3. Glycogen/‘?ﬂ%ﬁ’ﬁﬁﬁ

4. Amyloid / UGS

Correct Answer :-

. Glycogen/‘a|$$|@q

20) Normal range of total bilirubin is ./ Pd faeifaa ot g W

g

1.0.2-1 mg% / 0.2—1 fArciiumd,

2. 0-0.2 mg% / 0-0.2 freiomaY,
3. 0-0.5 mg% / 0-0.5 o,
4. 0-0.8 mg% / 0-0.8 fheiuE%

Correct Answer :-

. 0.2-1 mg% / 0.2-1 Toeioma Y,

21) VDRL is used for diagnosis of ./ AISIRTA &

A & fre uge gian 2|
1. TB / €idl

2. Diphtheria / fSRAfRAT

3. Pneumonia / AT

4. Syphilis / Ffthfera

Correct Answer :-

. Syphilis / ffthfera

22) Keeps blood in fluid state / 3 ® dvd AT W }AdT &

« Maintains water balance / 9Id Jde- S9T¢ 39T &

« Controls body temperature / YRR dYH & A4 svar 8
« Contains antibodies / Ufavef g giar 8

These are the functions of ./ g * Ho‘l'!f%'I

1. Plasma / TITGHI



2. Granulocyte / m
3. Monocyte / 1:.||'_'i|¥||$€

4. Platelet / foeTy]

Correct Answer :-

o Plasma / TITGHT

23) The type of protein in urine of myeloma patients is called protein. /

nagémmﬁmﬁﬁﬁ%gﬁ%%waﬁ M FeT
ST gl

1. Albumin / Tes[{&

2. Globulin / Tdlied e

3. Bence Jones / S G119

4. Nucleoprotien / W

Correct Answer :-

« Bence Jones / ag\_rﬁ?

24) Fixative used in Leishman stain is ./ = sifere A Ugdd
fRRe gl

1. Acetone free ethanol / THICIH Had T
2. Acetone free methanol / THICIH Had OB

3. Acetone free butanol / Q?ﬁa:f Had W
4. Acetone free resorcinol / THICH Had RSIRSIEIN

Correct Answer :-

« Acetone free methanol / THICIH Had OB

25) is an example for formalin containing fixative. /

Wi gad FRIRSRI &1 TP ISTe0 8|
1. Carnoy’s fluid / HoRAG BT 5d

2. 10% Formal saline / 10% WHIHA @T‘ﬂg:f

3. Clarke’s fluid / FITFS G

4. Flemming’s fluid / FAfET &g



Correct Answer :-

e 10% Formal saline / 10% tﬁﬁﬂ @(_'H%:I

26) Unexpected antibodies are detected by ./ SIyreaTRTe wfa=faray &1
& GIRT UdT ST ST 3 |

1. DAT / SIUc

2. ICT / 3Tt
3. DCT / St

4. VDRL / AISI3RTA

Correct Answer :-

. ICT/ 3TStc

27) Which is the infective form of the malarial parasite? / HATRAT & URSid] BT GHPTHS
WHY B AT g

1. Oocyst / JHBYCT (E@IE)

i e W N

2. Sporozoite / STSITULS (TARITIZC)

3. Bradyzoite / ESISIEIFH
4, Tachyzoite / %ﬁ%ﬁ&rrga

Correct Answer :-

NN

« Sporozoite / SSITU[S (TRIGISC)

28) Lowenstein-Jensen medium is used for cultivation of . | AAIeTgA-

ST HTeTH & Hae & forg uge ST 31
1. Bacillus anthracis / CRAGE] @ﬁm

2. Mycobacterium tuberculosis / W@aﬁﬁuﬂ Eﬂ@?ﬂ?ﬁﬁm
3. Clostridium tetani / Tﬁ‘lﬁ@j‘%’ﬂﬂ el

4. Haemophilus influenzae / BTG AT LUIUET

Correct Answer :-

e Mpycobacterium tuberculosis / WW E‘T@Tﬁﬁ‘hﬁlﬂ



Preservative used in ABD antisera is . Qﬁ:‘ﬁ Qﬂ@ﬂ | UYgad LIESESCg
gl

1. 0.1% Sodium azide / 0.1% HITSTH TS
2. Sodium chloride / HIf$TH HIRTSS

3. Sodium carbonate / HIfSTH HIEHC

4. Sodium bicarbonate / NSTH IZHIEHT

Correct Answer :-

« 0.1% Sodium azide / 0.1% ITSTH TIAZS

30) Cytoplasmic stain used in H&E staining is ./ TAUd 's: MRS | Ugdd
fRe®, gl
1. Eosin / 5’\3‘hﬁ:{

2. Haematoxylin / %ﬁ?ﬂ'@ﬂﬁq

3. Neutral red / SGIH €1d (ggd 18)

4. Methyl Red / THUTSAI XS

Correct Answer :-

« Eosin/ ?{C"rhﬁl:f

31) Dealcoholization means .| 3ePIgd giaad vl (Suemigarseiy ) &1 3
g |

1. Dehydration/ﬁﬁ?ﬁwm ( Iéslééﬁlﬂ)
2. Impregration / T (3@")?171)

3. Clearing / BEIRIRCSIRIED)
4. Embedding / 3Id:RIT0H (3W&TE™M)

Correct Answer :-

o Clearing / At @ﬂﬂﬁﬂ)

32) Lin “L Block” stands for ./ "Ud ATp" § vd BT 3

g |
1. Length / FIEIT_’-:E
2. Label / A9d




3. Leuckhart’s / TJhBICH
4. Light / T3¢

Correct Answer :-

« Leuckhart’s / WI_{\_F[

33) Diluting fluid used for RBC count is ./ SRERT 70T & fore wgaa
GRCARIET] gl

1. Dacie’s fluid / S9N &g

2. Turk’s fluid / CFt Gd

3. Hingleman’s fluid / %Tlﬂﬁﬁf ad
4. 1% Ammonium oxalate / 1% AT Hlegcdlc

Correct Answer :-

e Dacie’s fluid / @?ﬂﬁﬁﬁ

34) Example for supravital staining is ./ 3firsig WWW
gl

1. New Methylene Blue / =1 ARy 9

2. Perls Prussian Blue / WQ&PF[ oy

3. Gabbets Methylene Blue / ﬁéa'r EDRIE Syl
4, Trypan Blue / @:Igaq [Syle]

Correct Answer :-

« New Methylene Blue / 141 ARy ]

35) Wuchereria bancrofti causes ./ CIRCI G e U |
I AT B |

1. Amoebiasis / SHIETSITAT (fHIfeaTRN)

2. Toxoplasmosis / 3TfavgeTdr (aa@wm
3. Enterobiasis / Tex TR

4. Filariasis / Wﬁmﬁﬁmﬁm@rﬂ)

Correct Answer :-

« Filariasis / DTSR T (BISATRIATRI)




36) Immunogens are ./ Ut &S sﬁ %I
1. Complete Ag / ﬂqﬁqﬁm

2. Incomplete Ag / GTCLUT PINEE]

3. Allergens / TcIRol

4. Antibodies / UfcrRelt (QEP'EV'@)

Correct Answer :-

« Complete Ag/ Wqﬁl\_ﬂ:{

37) Platelets are store at temperature. / fOTET0] (@edew)
ATTH W HUfed f6d wrd €1

1. 1-6°C

2. 12-15°C

3.30-37°C

4. 22-24°C

Correct Answer :-

o 22-24°C

38) Kidney function test is i ﬂjcf &1 foranfafd &t wirg % |
1. Albumin / 3esgfH=
2. Bilirubin / Xfaa9-foqauisar (faciefam)

3. Serum electrolytes / IRA sﬁa@als‘d
4. SGOT / THGII3MC

Correct Answer :-

« Serum electrolytes / IRe séazﬁaﬁz

39) Gooding and Stewart’s fluid is an example for fluid. / 'ﬁﬁ’-ﬂT@
wacHa &4, %d BT TP IGTE g |

1. Dehydrating / BEE] (%31%3%1)
2. Clearing / IBEQR] (iﬁﬂ'qﬁ'rl)




3. Decalcifying / IEEaSIERUNEETSSIN AR
4. Impregnating / 3R (gTCﬂﬁﬁ"T)

Correct Answer :-

 Decalcifying / fap et (%WW’D
40) Expand the term ELISA. / T 2o &1 fawR &Y

1. Enzyme Unlinked Immunosorbent Assay / TSTgH &Iﬂﬁﬁ TR &TRNYS STHTIA CEIES]
3feids SRR E THY)

2. Enzyme Linked Immunoglobulin Assay / TSIgH ﬁaﬂ QﬁT&‘II‘ﬂ\I@ﬂ\%"I 3T (TSTZH NES)

3. Enzyme Linked Immunosorbent Assay / W ﬁaﬂ uﬁ?&rrszﬂw STHYA (QGTI_{H INCS]
4, Enzyme Linked Immunosubstrate Assay / QGH%T[ {[ﬁ?r Qﬁ?&‘lmw S{THTYA (QUII%J-I NES

TS THY)

Correct Answer :-

. Enzyme Linked Immunosorbent Assay / USTgH JAd WicREMRING MY (Tomsd feide
SEANIREE TH)

41) Example for gram-negative cocci is . [ GTH-ADRIHD Coikcal JalerUl
gl

1. Neisseria / qﬁ@lﬂ?ﬂ

2. Staphylococcus /| KhdiPpiad
3. Streptococcus / “\%:@WVW

4. Pneumococcus / W\m

Correct Answer :-

« Neisseria / WG‘H

42) General test for protein is ./ U & o 9= IE|

gl

1. Biuret / W
2. Benedicts / aﬁm

3. BUN / §IgEH




4. Benzidine / a\_r‘ EIG!

Correct Answer :-

 Biuret/ Eﬂsqﬁ‘c’

43) Full form of FNAC is ./ THTTH &1 Yol =7 g

1. Fire Needle Aspiration Cytology / lTUX Hred TR wrgeidciol

2. Fine Needle Aspiration Chemistry / BIg- Hred Qf&ﬁ?ﬁ m

3. Fine Needle Aspiration Cytology / WIg Hed Q@ﬁi‘?ﬂ ﬂ'l'{cﬁ?[e:ﬂ%ﬁ

4, Fine Neoplastic Aspiration Cytology / I aree® Q'%IQ'QF[ mgaﬁ::ﬁ'ﬁﬁ

Correct Answer :-

 Fine Needle Aspiration Cytology / thIg- Hed Q'w ﬂ'lga?[i::%\fﬁﬁ

44) Indicator used in antisera A is /R T Ugdd Jdob
gl

1. Acriflavin / W?ﬂ:f

2. Trypan Blue / ‘g@?{ [Syle]

3. Bromocresol Blue / STHIHATA ol
4, Methylene Blue / EINKIE] Ty

Correct Answer :-

e Trypan Blue / ‘g@:{ iy

45) is an Australia antigen. / TS AReferars
wfae @ &) Bl

1. HIV Ag / Ta3{Tgal Tolt
2. HBE Ag / TTaTs Toit

3. HBS Ag / TTdTY Tait
4. HCV Ag / Toriat Toft

Correct Answer :-

. HBS Ag/ TIddy Toll




46) Neutral red is used as indicator in media. / GT:;"@T-[ rd
Hfear & gue & w0 & uged gar |

1. Blood agar / Xdd TR

2. MacConkey’s agar/ AhdIdb 1i”TIT

3. Chocolate agar / EIES[ Q'ITIT

4. SDA / THSIT

Correct Answer :-

» MacConkey’s agar/ AhdIdb TR

47) Ayer’s spatula is used to obtain sample from ./ m '\‘a'ﬂ?lT

A T FIRIE B & e vgaa gt 21
1. Uterus / TTHIRIT (IH)

2. Cervix / TR a1 (IRFaaw)

3. Fallopian tube / fSTaTfg- Tail (halfUTH &d)

4. Endometrium / THTRT 3fa:R (TSHfeaH)

Correct Answer :-

. Cervix / YT Utar @m

48) Method of sharpening of Kknife is NI 3 P ol T Bt fafyr
gl

1. Stropping / A HAT @ﬁ"'{)
2. Clearing / ATt (iﬁﬂﬂtm)
3. Microtomy / W&:ﬁ

4. Honing / HT o (fﬁﬁ"’l)

Correct Answer :-

« Honing / M Gl (Eﬁﬁ'rl)

49) Mantoux test is a skin test used for screening of . | A<T1a S U el
i g St B BT F I wge gt 71

1. Leprosy / 9§ AT
2. Hepatitis / gUCTS[cd




3. AIDS /UgH
4. Tuberculosis / &3 T

Correct Answer :-

« Tuberculosis / &9 I

50) is an example for immune mediated transfusion reaction. /

wfeRam Hegwyar Sy ufafdar (3R Hifdee giwe Ruerm) & g

& GV 3|
1. Iron overload / ?ﬁ_ﬁ' 3ffmdr

2. Graft v/s host disease / HTH §H UEIdT (BIRC) T
3. Circulatory overload / gREERT SfdHR
4. Bacterial contamination / \_rﬂa'l'q HehHUT

Correct Answer :-

« Graft v/s host discase / HAH §TH AT (BRT) IAT

51) LISS stands for ./ TASTSTHTH &1 31 § [
1. Litre of Ionic Strength Solution / 3 Al Ot oI aiex

2. Level of Tonic Strength Solution / 3P fdd O BT TR
3. Low Ionic Sugar Solution / g emafe 2H gid
4. Low Ionic Strength Solution / g smafe wfed 9ia

Correct Answer :-

« Low Ionic Strength Solution / % 3afAe% Trfad ad

52) Reagent used for floatation method of stool is ./ A P wAeRH fafy &
fore wgaa siftetie 21

1. Saline/ﬂ?:ﬁ:&ﬂl%q
2. 40% Formaldehyde / 40% HIHce 6158

3. Ether / g?ﬂ
4, Zinc Sulphate / i Tethe

Correct Answer :-

« Zinc Sulphate / S Tethe



53) is the thigh bone. / Sy Pt gsl gl
1. Radius / FASa1-311RY &%ﬂﬂ)

2. Femur / $r&-3QY (ElﬂTR‘)

3. Ulna / 3{q:UDIBHT (I

4. Carpal / TforefdeT (hIRUC)

Correct Answer :-

. Femur / $%&-3RY (BIR)

54) Iron stores are reduced in . s Fﬁ'&' USSR HH Espf
wTd Bl

1. Microcytic hypochromic anemia / J&HATIE 3feqqull adTwIdl (HTShIEICH SI3uIhIfHe®

2. Macrocytic normochromic anemia / ®[cITU[h HTAFIGUTT RerdTedd (ﬁm BIEIEAIEED

3. Pernicious anemia / [d9Td® YadTedd] @ﬁ&lﬂﬂm

4. Haemolytic anemia / TFICITA XadTedd] (GHITAICH THITHAT)

Correct Answer :-

O\

« Microcytic hypochromic anemia / EATIE 3HeTaUN XFTIdT (ATash IATCH GISUh

K=
S

55) The site for CSF collection in adult is | TP § JITHAUE GG F -

fore =, gl

1.L,-L,

2.Ls-Lg
3.L;-L,
4.15-Ly

Correct Answer :-

« Ly-Ly

56)



Buffy coat is used for preparation. /| B Bl TR H3A
Hyga gl gl

1. Sickle cell / Riepe DI

2. LE cell / U&Ts PIRIBT

3. Parabasal cell / TRTUR IR
4. Superficial cell / gl PIRBT

Correct Answer :-

« LE cell / TS IR

57) Which forms of Plasmodium falciparum are generally absent in peripheral blood film of

the patient? / TTHIFSTH BRI & HIF T UHR, ITHRG: AN $t uRdha Iaa feeq
| U I 82

1. Rings / B (ﬁ"ﬂ)

2. Schizonts / %O_th

3. Crescents / {YTGTHR (m_cf\“v'l)
4, Trophozoite / a'q’ﬁﬁh_{@

Correct Answer :-

« Schizonts / Wﬁw

58) Normal systolic blood pressure is ./ HTHI Y ';I@_tF-T YGddIq
gl

1. 70 mmHg

2. 80 mmHg

3. 90 mmHg

4. 120 mmHg

Correct Answer :-

« 120 mmHg
59) The protective outer covering of some bacteria is . PO vﬂarq;aﬁ DT IETHD
CIRIRE G| B 3l

1. Flagella / BRI (Q%Iﬂ('_vﬂ)
2. Pilli / fuea



3. Capsule / W

4. Inclusion granules / THTAR HIVTHT (FAFISH Ideq)

Correct Answer :-

» Capsule / %UFEI

60) WIDAL test is a/an WAL CIGASIE| Udh %I
1. Precipitation reaction / et fffesar

2. Agglutination reaction / o 3iffehan
3. Complement fixation / YIh fRRHur

4. Color reaction / T Ufdfepdr

Correct Answer :-

« Agglutination reaction / o Sififehan

61) Yellow color of CSF is known as J ?ﬁ'w CaR G Eu
& U T ST S 8

1. Hyperchromia / 3{fcIauiiadT (STSURITHA)
2. Xanthochromia / m?la'UfﬁJT‘lT (ﬁr m
3. Normochromia / ATATIGUTaaT (FArATH 1)

4. Hypochromia / FgauifadT (gTguie fHmm)
Correct Answer :-

« Xanthochromia / Utdguifaar (ef m

62) Gas gangrene is caused by ./ g A= & gRISUA 'Eﬁ?IT %I
1. Clostridium tetani / W?????@'W@E’?E’

2. Clostridium septicum / W@?@W I0HH

3. Veilonelle / dall-eai!

4. Gonorrhoea / il (ﬂﬁﬁm)

Correct Answer :-

o Clostridium tetani / W@?@Uﬁé??ﬁ



63) The molecular formula of glucose is ./ TIPTH BT 3Tfude gA
gl

1. C,H,0,
2. C3Hg05
3. CcH1206
4. C¢H 705

Correct Answer :-

« CgH 206

64) Immunoglobulin which can cross the placenta is ./ L'Iﬁ?&‘l'l"?hﬁlﬁlq

GREANENT) S M1 B UR BT YebaT & d€ gl
1. Tg M / 31T5oll TH

2.1g G / 3ATEoit Sit

3. IgE/ 350 §

4. 1g D/ 3MTsoil Bt

Correct Answer :-

. IgG/\?'ﬂgTTﬂ\_fﬁ

65) is a ketone body. / U CACC G| %’I
1. Urea / W

2. Creatinine / %Qﬁﬁ:f
3. Uric acid / W ST

4. Beta-hydroxy butyric acid / STCT-gIAS I &R 3T

Correct Answer :-

« Beta-hydroxy butyric acid / @ET-%'I’CI@ER:‘T @I@W H&T

66) Standard method to estimate heamoglobin is ./ SRS 3THad Bt
A fafd gl

1. Sahlis method / ATgal fafdy
2. Cyanmeth Hb method / Iy T fafd




3. Hemocue / m

4, Copper sulphate method / PR Fethe fafe

Correct Answer :-

« Cyanmeth Hb method / IIAHY e fafd

67) Life cycle of plasmodium in man is called as ./ Udh fed A qarsaifead &1
it % GG

1. Schizogony / ICECERISREI (EﬁﬁGhTI'IV:ﬁ)

2. Plasmiogany / PIRIBIEH-HeT @Tﬁ&nﬁ:ﬂ)
3. Sporogony / aﬂ\_rlTUl 3ad- @ﬁ’ﬁ:ﬁ)

4. Gametogony / JTHD Jagd- UEEIE)

Correct Answer :-

« Schizogony / faGE-IS+ (TP IS

68) Anticoagulant that chelates calcium is ./ YFHI-A R ot Sferraw &t
PIde HT 8, I8 2

1. Heparin / %qﬁ_"f
2. Phosphate / Hidhe
3. EDTA / 3SI1E1T
4. Fluoride / TIRTSS

Correct Answer :-

. EDTA/%@'E"Q

69) Sickling test is done for ./ IaTeudr & fore fysfer
Sird 3t oelt g

1. Haemolytic anemia / ECSGIRIRCSIGG] (%'mw Q'_'ﬂﬁltm

2. Sickle cell anemia / G PIRIPBT eIl SEL @aﬁ:ﬂﬁl’cﬂ)

3. Megaloblastic anemia / naa‘r%uﬁmm (ﬂ"‘TIFn@ITm Q_Fﬂ'&ltﬂ)
4. Iron deficiency anemia / Q'?IE; HH! IadTeddl (TR W@'&Wﬂ)

Correct Answer :-

« Sickle cell anemia / G DIfRAHBT XadTedal (Ridvd Jal THITHAT)




70) Who invented Bombay Blood group? / I =TS U ol 3faspR fraa forar
1. K. Landsteiner / &. A8W IR

2. Y.M. Coombs / aﬁ‘@ﬁw

3. R.R. Bhende / 3R.3R.HS

4. Robert Koch / I:1q¢C ®Id

Correct Answer :-

« RR. Bhende / 3R 3RV

71) Which of the following possess capsule? / oo 3 fead 37‘7\‘1?[ gidr %?
1. Streptococcus pneumoniae / Q@W ﬁ'ﬁh:ﬂ

2. Staphylococcus aureus / Rihdeied Ty

3. Neisseria gonorrhoeae / :ﬂgﬁﬁ'{ﬂ ﬂqm

4. Bacillus anthracis| SUTaY TR

Correct Answer :-

» Streptococcus pneumoniae / @A@W IBEIE]

72) Chinese letter arrangement of cells is shown by which of the following bacteria? / fad

¥ frg Sitar) gRT A+ sieRl &t srawit g=ifs St 21
1. Neisseria gonorrhoeae / mﬁm ﬁ??ﬁm

2. Corynebacterium diphtherize | PIRIAaCINTH fewitfear

3. Vibrio cholerae / fafsi ®IeiR

4. Escherichia coli / sﬁﬁfﬁ'&ﬂ ﬁ?ﬂ'ﬁc

Correct Answer :-

e Corynebacterium diphtheriae | PRIAa IRgH ferifr

73) Volume of anticoagulant in 350 ml blood bag is . 1350 frcfieftex Taa A<t &
YFHIN et B AT B

1. 50 ml/ 50 foclielex
2. 30 ml / 30 fHefieier



3. 49 ml / 49 fHefidier
4.29 ml / 29 ToefielieR

Correct Answer :-

« 49 ml/ 49 TOddeR

%4) Cast seen in urine is . /Wﬁm?& I arer fHaa -
|

1. Calcium oxalate / BTeRITH 3ffaTde
2. Leucine / W’f

3. Tyrosine / E'I_Qjﬁﬁl:f

4, Waxy / ﬁla’\’-la?‘[ (é?ﬂﬂ)

Correct Answer :-

. Waxy / Rieyaq @&l

75) Hay’s test is based on the property of lowering of bile salts. / % Gl

ydleror, o dqun & B HH B & 0T R TUTRT g1

1. Surface tension / Y§-d-Id

2. Volume / HIAT

3. Specific gravity / fafRy g9
4. pH/ digg

Correct Answer :-

« Surface tension / Y§-d-ld



